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yenfefat & forg fAder / Instructions for the candidates :

1- e OMR TR U3 WR 371 Ueq GRIADBT HHID (10 3BT 1) aw fored |
Candidates must enter his / her Question Booklet Serial No. (10 Digits) in the OMR

Answer Sheet.

2- TRt JATHYT U ISl H B BTN T |

Candidates are required to give their answer in their own words as far as practicable.

3- TRl AR BRI R 3 U o guie fAfde axd 2 |

Figures in the right-hand margin indicate full marks.

4- T B M qdd g & forg 15 e @1 sifaRe wwg fear a2 |

An extra time of 15 minutes has been allotted to read the questions carefully.

5. I8 U UF oI WUSI H g — WUs ‘31 Ud WS T |

This question booklet is divided into two sections — Section ‘A’ and Section ‘B’.
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6-

Tug 3 § 70 IS U € R 35 e oifvart 2| afe udemmeft 35 & @ifde gl &
IR T /<l &, I Y 35 ITRI Bl &1 Jeddh [HdT SR | Y& U9 & fofg 1 3id
fReiRd 21 398 SR <7 8 OMR ITR-UFE R F&! fAdeq & $ral /et dfet U7
Tg N | Bl W TR & gseR/ IRd Uarl / &f€ /A RgA 3ffe &1 OMR IR 096
H TN T8l BN IIAT T AT BT |

In Section — A there are 70 objective type question out of which 35 questions are compulsory.

If the candidates answer more than 35 questions, the first 35 questions only will be
evaluated. Each question carries 1 mark for answering these darken the correct circle on the
OMR Answer Sheet with black/blue ball pen. Do not use whitener/liquid material/ blade/

nail etc on the OMR Answer Sheet otherwise the result will be invalid.

Gus g H 20 oY SN U & | YD U b U 2 3 FMegiRa €, f4 4 fb=i 10
gl BT SR <A1 Ifard 21 59 S1faR<h 59 Wos H 6 <" S g ¥ W €
8 9 Pt 3 uel &1 SR <7 A 2| e & forv 5 3fe fRiRa ®

In Section-B there are 20 short Answer Type Questions. Each question carries 2 marks. Out
of which any 10 questions are to be answered. Apart from these, there are 6 Long answer
type questions out of which any 3 questions are to be answered. Each questions carries 5

marks,

Al YR & gelaglNe IUSHRYT &I TANT goiaar afsid = |

Use of any electronic appliances is strictly prohibited.
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GUs — 3 / Section-A
TS Y2/ Objective Type Questions
T W11 A 70 % & IS U & 91 IR ddvey i 1 €, R 9 o |98
21 U §RT g T fa%hed &I OMR ¥ W fifed &Y | ®Hadt 35 YAl & & IR
T 35x 1 =35

Question Nos 1 to 70 have four options each, out of which only one is correct, you have to mark

your selected option on the OMR sheet. Answer any 35 questions. 35x1=35

1- 3w drel Uil &7 VAT 9E, S (el e Aol &= # S 1=
g1, S0 F1 Hed T ?

(A) (B) 311
(C) SiTer (D) ST
What is a group of plant of economic importance grown in a particular geographical area called?

(A) Crop (B) Cereals

(C) Forest (D) Garden

2- el B G gl e 8 oY R RIT BT

(A) AT SITa- TH 8 SITYT (B) KT SIld WeH & S

(C) STA—Sia &cH 8 SITeI (D) Dael Ul g2

What will happen if all the vegetation on earth is destroyed?
(A) Human life will end (B) All living being will destroyed

(C) Aquatic life will be destroyed (D) Only the birds will survive

3- fre g # AR # SEr d9EE g Sddr Bl 7 7
(A) TRIH (B) X1
(C) TR (D) T | PIE TeI
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In which season, there is high temperature and humidity in the atmosphere?
(A) Kharif (B) Rabi

(C) Summer (D) None of these

4- 71 5 | DI AIAIAl HA BT BAA © °
(A) CHIX (B) TIAT
(C) g+ (D) 31Us]
Which of the following is a crop of the Malvaceae family?

(A) Tomato (B) Linseed

(C) Jute (D) Castor

5- YN B IRT 3R 5T A DI TMHR bl ¥ 97 BT 0T B & ?

(A) = (B) THICR

(C) eI (D) fos

Red cotton bug is controlled by planting which crop around cotton?
(A) Chilli (B) Tomato

(C) Cauliflower (D) Ladyfinger

6- frd waa | VAT U far S g ?
(A) SfTe] (B) T~
(C) (A)Td (B) T (D) =TS
Ethanol is obtained from which crop?

(A) Potato (B) Sugercane

(C) both (A) and (B) (D) Onion
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7- T STedTell B & —
(A) G (B) T
(C) ST (D) 3RER
Deep rooted crop is -

(A) Paddy (B) Wheat

(C) Barley (D) Pigeon pea

8- fIER @ W= wdl H I ATaYol HId BAd © 7
(A) & (B) T,
(C) HIDT (D) H<X
Which one is the most important crop among the cereals of Bihar?

(A) Paddy (B) Wheat

(C) Maize (D) Pea

9- fd8R ¥ 9™ &I IATeHhdr fha-T & ?

(A) 2025 fHUT /o (B) 2225 5T /o
(C) 2525 fhuT /o (D) 2825 fhUT /o
What is the productivity of paddy in Bihar?

(A) 2025 kg/ha (B) 2225 kg/ha

(C) 2525 kg/ha (D) 2825 kg/ha

10- AT & JIFAR g, s gRT 9RA R 7 ?
(A) 3T GRT (B) U ERT
(ORCRICIRIN-N] (D) ATl g
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According to belief, who brought wheat to India?
(A) By the Aryans (B) By the British

(C) By Portuguese (D) By the Greeks

11-71g, BT HORT BT BT IS AH T & ?

(A) ERUAMBIT FRIRGAN (B) TTERT gfereli

(C) THRATTRH TeTHraT (D) TSATATAT Siffecraar
What is the scientific name of cut work of wheat?

(A) Scirpophaga incertulas (B) Agrotis ipsilon

(C) Exelastis atomosa (D) Spilosoma obliqua

12- o Ulo THo &T g7

(A) G (B) T
(C) HerpT (D) =T
What is Q.P.M.?

(A) Paddy (B) Wheat
(C) Maize (D) Gram

13- T BH H qgAvST & Y Th ASgIo Bl A H WU & & ?
(A) GreT~1 B¥el (B) TaTg ®¥dl
(C) TeTET e (D) TRT Bl
In which crop the uncombined Nitrogen of atmosphere is fixed in the soil?

(A) Cereals (B) Pulse crops

(C) Oilseed crops (D) Fodder crops
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14-p1 W Tolgd & USTaR AR 6T 90 Uferd MR § arar g ?

(A) 3IXEX (B) =T

(©) HT (D) RK

90 percent of the world’s production of which pulse is produced in India?
(A) Pigeon pea (B) Gram

(C) Green gram (D) Lentil

15- TR @1 W 5 Serarg # gt 8 2
(A) BfcT (B) S
(C) 9T (D) &P
In which climate, lentil cultivation is done?
(A) Sub-topical (B) Temperate

(C) Tropical (D) Arid

16- 71 5 DI ATl &9 & Th U9 A © 7
(A) S8 (B) A=Al
(C) I~ (D) IR
Which of the following is a major crop of Tal region?

(A) Black gram (B) Mustard

(C) Sugarcane (D) Lentil

17-9eR BT SART el AT Falf & ?
(A) DTSRI (B) STR—URTH vRd
(C) BT (D) 379 &
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Where is the supposed origin of peas?
(A) Pakistan (B) Nort-West India

(C) Afganistan (D) All of these

18-99TC U IT fhadhT S—1d ude g ?

(A) T (B) ¥

(C) FeR (D) Tl
Samrat and Sona are improved varieties of which crop?

(A) Gram (B) Green gram
(C) Pea (D) Groundnut

19-f=1 & 3 fpaaT W & f9eR & UR Garar § ?

(A) FThel (B) U

() g (D) g

Which of the following has immense potential for cultivation in Bihar?

(A) Groundnut (B) Cotton

(C) Paddy (D) Wheat

20- IR BT ool fhd 8T Racam <1 Gt g 2

(A) T (B) Tt

(C) 3T (D) (B) Td (C) T
Mustard cake cannot be fed to it?

(A) Cow (B) Chickens

(C) Pigs (D) Both (B) and (C)
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21-9RAT BT §1T X 8 —

(A) 2 fHUT /Bo B) 5 fHUT /o
(C) 8 fHuT/Bo (D) 10 fHUT /o
Seed rate of mustard is -

(A) 2 Kg/ha (B) 5Kg/ha

(C) 8 Kg/ha (D) 10 Kg/ha

22- ) BT Ifh A9 RIT B P

(A) SR¥BT Sf~<ar Tet. B) o gRrerfeRem e,
() Ry PRRTH T (D) S99 | PIS A8l

What is the botanical name of Linseed?
(A) Brassica juncea L. (B) Linum Usitatissimum L.

(C) Brassica campestris L. (D) None of these

23-W1g7 Ud TR SRl # fHeT SuAnT g © 2
(A) ITE (B) TR
(C) aR¥IH (D) T
Which is used in soap and cosmetic industries?

(A) Sunflower (B) Tobacco

(C) Berseem (D) Sugarcane

24-IRABTA =T BT AUTS BT T T & 2
(A) 01 3T ¥ 15 RIdwR (B) 01 RYdwR | 15 3rFCR

(C) 15 3FCIR H 30 AqHIR (D) 15 a%R ¥ 31 faawR
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What is the time for planting autumn sugarcane?
(A) 01 August to 15 September (B) 01 September to 15 October

(C) 15 October to 30 November (D) 15 November to 31 December

25-T71 Jurg H fbat 3if@n arell fifoerdl SU—NT &R =gy ?
(A) TP (B) a1
(C) T (D) TR
How many eyed galls should be used in sugarcane plantation?
(A) One (B) Two

(C) Three (D) Four

26-f3ER ¥ Se o ol fra &= # Bt 8 7

(A) BRI & (B) TTd &
(C) HITY &3 (D) 99 &=
In which area is Jute cultivated in Bihar?

(A) Kosi region (B) Tal region
(C) Magadh region (D) Sone region

27-HRARY S UHR 7 ?
(A) VAR (B) vic
(C) durd (D) TR,
Capsularis is a type of which plant?
(A) Sorghum (B) Jute

(C) Cotton (D) Tobacco
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28- T ART B ® Hels ddd Udh dR D ol Fhdl & 2
(A) I (B) AIfIaR T4
(C) R¥IH (D) SR
Which fooder crop can be harvested only once?

(A) Maize (B) Napier grass

(C) Berseem (D) Sorghum

29-fHd B B Wl IR T M T b oIy R § 2
(A) T (B) HaehT
(C) IR (D) 3REX
Which crop is cultivated for both fodder and grain?
(A) Wheat (B) Maize

(C) Berseem (D) Pigeon pea

30- (HR AfRR + =) — 59 HAa Ugfa $T SaTeR0 § 2
(A) Sriad et B) A3 el
(C) PHTT el (D) TR T
(Hybrid Napier + Berseem) is an example of which cropping system?
(A) Inter cropping (B) Mixed cropping

(C) Sequential cropping (D) Parellel cropping

31-fE &5 faow & oft wft waer gonforal & S & &1 ded § ?

(A) ™ Ush (B) SgHGTell Tl
(C) B e (D) B Wh
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The sum total of all the cropping systems adopted in the reported area is called?
(A) Crop rotation (B) Multi storied cropping

(C) Cropping intensity (D) Cropping pattern

32-ff3rg W) g &= & Suanh § 2

A) Rifad &= (B) IRifra e

(C) (A)Td (B) T (D) S & PrE T
In which area is mixed cropping useful?

(A) InIrrigated region (B) In non-Irrigated region
(C) Both (A) and (B) (D) None of these

33-Hworrfed Iol 3ifh d1e} & fhd wU H ST frar © 7

INEILISISE (B) SAUIGTATUREM
(C) Ry=rg (D) STl T
Consumptive use of water is known as what?

(A) Transpiration (B) Evapotranspiration
(C) Irrigation (D) Drainage

34-0Y P hlf~dd R § fHaad faRh sravaemdar grd g ?

(A) TH BT (B) UINSF i @l
(C) (A)Td (B) T (D) DICTRTD B
What is additionally required during the critical stage of a plant?

(A) Moisture (B) Nutrients

(C) Both (A) and (B) (D) Insecticide
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35-9A H T BT TUMET R IF F B AR 7 P

(A) SRR (B) NI
(C) TTHMIeR (D) RrreR
Which instrument is used to measure soil moisture?

(A) Irrometer (B) Raingauge
(C) Anemometer (D) Barometer

36-T% 3R AgdT B T angoss] / Wollogo fohaer feiRa 2 ?
(4) 0.1 (B) 0.8
(€) 2 (D) 10
What is the I.W/C.P.E. fixed for wheat and maize?
(A) 0.1 (B) 0.8

©) 2 (D) 10

37-%i A1 Ri=ms Ay fa=sm @1 i3 fafdr &1 v 2 2

(A) STl wIraq fafer (B) drex fafey

() 3f¥ fafer (D) S fafer

Which method of irrigation is an example of mechanical method of science?
(A) Flooding method (B) Border method

(C) Basin method (D) Drip method

38-STsl H 3TUgNIfad RAUTSN Bl & UBhT Sl Fhdl & 2
A) Riarg grr (B) ST &I g1
(C) DICAEH gRT (D) SIRF gRT
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How can anaerobic respiration in roots be prevented?
(A) By irrigation (B) By drainage

(C) By insecticide (D) By fertilizer

39-TTR AR H &R GBI BT fhd 1 | 1 S 8 2

(A) SR HaT (B) dcfelR Hal
(C) ISR T (D) SWRIH T
By what name are alkaline soil known in North India?

(A) Usar soil (B) Kallar soil
(C) Banjar soil (D) All of above

40-F71 BAT § ¥ DI FaqUT Fw] 7 ?
(A) 8T (B) T
(C) ¥& (D) 3REX
Which of the following crops is salt tolerant?

(A) Paddy (B) Green gram

(C) Apple (D) Pigen pea

41-GIA 3T HET BT Goldo BIAT & —
(A) 5.7 (B) 6.7
(C) 7.0 (D) 7.7
Slightly acidic soil has a pH of -
(A) 5.7 (B) 6.7

©) 7.0 (D) 7.7
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42-T8 & Wd H IT HSI—Pel g9 I W Al I T el ?

(A) IHfTPH B (B) 31faR® B
(C) WRUAIR (D) AT el
What should you call it if paddy grows here and there in a wheat field?

(A) Alternative crop (B) Extra crop

(C) Weeds (D) New crop

43-f=foRad o e 9197 25 I 40 99 91g WY ST AhdT & ?

(A) 9T (B) 914

(C) Wl (D) ST

Whose seed among the following can germination even after 25 to 40 years?
(A) Gram (B) Paddy

(C) Mustard (D) Bathua

44-T71 § 1 B9 AT BT & TRUAAR & 2
(A) I (B) UTelT &gt
(ORCERCES) (D) R FeeT
Which of the following is a summer weed?

(A) Motha (B) Peela Dhatura

(C) Vish Khapra (D) Patthar Chatta

45-f7=1 # | A 3MTe] IRAR BT WRUAAR & ?
(A) HDII (B) @
(C) a7 W (D) SiTefl S
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Which of the following is a weed of the solanaceae family?
(A) Makoy (B) Dub

(C) Van pyaj (D) Jangali jute

46- DY B TG B 37D DI T HEA © 7

(A) ST A B) THf arer
(C) T T (D) FURE
What is the extract of vermi compost called?

(A) Bio gas (B) Vermi wash
(C) Vermi oil (D) Compost

47-Th fHARm TSofedd doak & YA O fods fhaum™ Agere= & gad sl
g7

(A) 1 (B) 10

(C) 100 (D) 500

How many kilograms of nitrogen is saved by using one kilogram of rhizobium culture?
(A) 1 (B) 10

(C) 100 (D) 500

48-ug fafer & fooy s9mar Sirar ® 7

(A) 91T (B) HHIRT W@
(C) TH P (D) 9 SeuTe
What is made by Naped method?

(A) Bio gas (B) Compost manure
(C) Vermi compost (D) Neem products
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49-STof RO Ysed & fory 981 & —

(A) STl BT TH QI8 (B) STeT @7 94Ty
(C) FAEY eRoT AT (D) 395 | BIg &l
Correct for watershed management is -

(A) Over exploitation of water (B) Wastage of water
(C) Preventing soil erosion (D) None of these

50- 31T Y SMfSIBII: I DI T & S k0T § o9 ofd &, 20T § &I Siifdd ¥8d ©
IR T HE R T & ?

(A) AR (B) BIC e
(C) Geflel (D) Rea=m =meTd
Even today, who are most of those people who are born, live in debt and die in debt?

(A) Labour (B) Small farmers

(C) Broker (D) Rickshaw puller

51- BN &3 H T SFeIh &1 b 91 9N 37 Faarll & folt il Suetey g ?
(A) BT & H HH BT B AEHAT  (B) BN &3 H SRIGHIRI
(C) Y & § B9 s1fAD! BT HH A9GY (D) ST | Pig @l

Why is large portion of the labour force engaged in the agricultural sector available for other
occupations?

(A) Less works required in the agricultural sector (B) Unemployment in the agriculture sector

(C) Low wages to workers in the agriculture sector (D) None of these

52-1.0 ¥ 2.0 BICIAN SId drel fha BT T Phed & ?

(A) I b (B) g fbar
(C) 5egH T (D) g&a fohaare
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What do you call a farmer who has 1.0 to 2.0 hectares of land?
(A) Marginal farmer (B) Small farmer

(C) Medium farmer (D) Large farmer

53- %Y fauoE faadT Ja o/ 7 ?

(A) g1 fB=ATT BT (B) Trdal fard &1
(C) TIRT BT (D) ®YD HASIGR BT
Agricultural marketing is the main weapon of?

(A) Rich farmer (B) Weak farmer

(C) Businessman (D) Farmer labour

54-INR BT W@ Q@ & oy gfcfes fbad M %ol & Had & AR &I 15 2 2
(A) 50 (B) 100
(C) 150 (D) 200
How many grams of fruit is recommended to be consumed daily to keep the body healthy?
(A) 50 (B) 100

(C) 150 (D) 200

55- 3R s U&R & el & ?

(A) ST Bfca=y (B) SUTST Hfca=eig
(C) YT wfea= (D) Y STeAdR
What type of fruit is a grape?

(A) Tropical (B) Sub-tropical

(C) Temperate (D) Arid climate
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56-9gANTT Heoll BT QTR § —

(A) URdcT (B) cHICX
(C) ot (D) WIS

It is an example of a perennial vegetable -

(A) Pointed gourd (B) Tomato
(C) Cauliflower (D) Onion

57-Whel UIEl DI YRR IfARAT H HIC—BIC HR A HRAT T HEAN © ?

(A) SR (B) SrderT

(C) wermg (D) 5T A BIg &

What is it called to strengthen fruit plants by pruning them from the initial stage?
(A) Rajuvenation (B) Propagation

(C) Training (D) None of these

58-TlT W WA AfADH DI AT Bl g&T y9Ifad 2rar § ?

(A) ofTl (B) 3

(C) BT (D) T A BIS T
Which fruit tree is most affected by frost?

(A) Litchi (B) Mango

(C) Apple (D) Banana

50-F H 9 YRT &1 I Bl DI © 7
(A) I (B) 3H
(C) 99 (D) Dl
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Which of the following is the National fruit of India?
(A) Litchi (B) Mango

(C) Apple (D) Banana

60-3F%e fhd el BT Bl © 7

(A) DR (B) T
(C) AR (D) Tl
Guava belongs to which fruit family?

(A) Caricaceae (B) Rutaceae
(C) Mytaceae (D) Palmae

61-fpT ol B 2NheT ff ped & ?

(A) 314 (B) SR

(C) el (D) 37H A PIs 8
Which fruit is also called “Shreefal”?

(A) Mango (B) Coconut

(C) Banana (D) Naone of these

62-@ral frd wet & fhet g 2
(A) PcECd (B) TuTar
(C) 3m™H (D) IHA™T
Khajwa is variety of which fruit?
(A) Jack fruit (B) Papaya

(C) Mango (D) Guava
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63- BTl Tl T fad giar & ?
(A) Tefl
(C) oTeg-

In which black rot disease occurs?
(A) Radish

(C) Garlic

64- ST DT IRYfdd AT R & ?
(A) DITRT TIH
(C) SHRAT FRARIRAT

What is the botanical name of brinjal?
(A) Capsicum annum

(C) Lagenaria siceraria

(B) TgTer
(D) Sfie]

(B) Cauliflower

(D) Potato

(B) AIATH ATSHIARTHH

(D) HlelH HATA ST I

(B) Solanum lycopersicum

(D) Solanum melongena

65- e & <Y fooe d Neordr &1 dRoT & ?

(A) AIfSTH 3rTaotele

(C) DfeTTH AMToTere

(B) UICTRIIHA 3MTdolele
(D) H-IRRIH 3fTaoTeie

What is the reason for pungency in local variety of elephant foot?

(A) Sodium oxalate

(C) Calcium oxalate

66- el BT S~Id 9T & —
(A) oI |
(©) g

(B) Potassium oxalate

(D) Magnesium oxalate

(B) AT
(D) guHT

Page 21 of 27



Improved variety of turmeric is -
(A) Rajendra Sonia (B) Nadia

(C) Surbhi (D) Suprabha

67-Hersg fHior & foTu smavgsan € —

(A) AU gRag (B) faotelt

(C) T+ (D) SIRIH T4
Requirement for greenhouse construction is -

(A) Transportation nearby (B) Electricity
(C) Water (D) All of above

68- ATl T[eld BT e HIF T ?

(A) 9 (B) T
(C) AT (D) guR
Which is the variety of red rose?

(A) Basant (B) Aone
(C) Sonia (D) Tushar

69- =1 % ¥ I gAY HIg Bl BT U B ?

(&) T (B) Tl

(C) seferar DRSS
Which of the following is a perennial tuberous flowering plant?
(A) Rose (B) Marigold
(C) Dahlia (D) Gladiolus
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70-f § I PIT O HUPD BT ISR g ?

INEEGIEE! (B) 9HT

(C) HIETS aral (D) FRHTT T
Which of the following is an example of public contact ?

(A) Cinema (B) Tour

(C) Mobile talks (D) Personal letter

Yus — § / Section-B

oy IR g / Short Answer Type Questions
U W1 1 W 20 TP & oY IO © | fhl 10 UeHl & IR T | AP U & foIg

2 3@ MiRa 2| 10 x 2 =20
Question Nos 1 to 20 are short Answer Type. Answer any 10 questions. Each question carries 2
marks. 10x2=20

1- &1 BEeT 9 AT FIT FHSI ©§ ?
What do you understand by Rabi crop?

2- 5 H U Bl & WRUGAR BT Y dH BT 2

How to manage Gramineae weeds in wheat?

3- AT § IHST T BT Yae=T A B ?

How to manage wilt disease of gram?

4- T, IRAT AT S B Woall B SUANT bl ford |

Write the uses of Tori, Mustard, and Rye Cakes.
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5- SR & & dcly Ud dgdhely dlell S+1d (bl & gi—al =M ford ?

Write the names each of single harvest and multi harvest improved varieties of sorghum?

6- JIRAdT Wil bl IRITRT B |

Define inter cropping.

7- TAET H ST &1 IS AT (%) Td A (%) BT g ol |

Write the formula for available quantity (%) and volume (%) of water in the soil.

8- Sl & FAT @) IARNE AT & Y9G BT Sl I |

Mention the effects of excessive amount of lime in soil.

9- X&) 99 & IR WRUAAR T A9 ford |

Write name of four weeds of Rabi season.

10-BAE JARNY B GAAH0 & &l a4l DI o |

Write two advantages of recycling of crop residues.

11-98hRI [T Bl gRATRT &Y |

Define Co-operative farming.

12-ofT IS & 319 a7 99sd © °

What do you understand by Olericulture?

13-Hels—BCls d ST Bl foTd |

Write the objectives of Prunning.

14-f98R HfY FeTdene™, &R gRT [AwRid 3H &1 el o1 a4 o |

Write the names of mango varieties developed by Bihar Agricultural College, Sabour.

15-%c] HRAT | JAIfId 3Hwe & Used &l fory |

Write the management of guava affected by fruit fly.
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16-T Y ST & oIy SR Sferdry] &7 favor €|

Give details of suitable climate for growing Cauliflower.

17-T[TGT3ET Bl JuTg e AR DA BT AMBY ?

When and how chrysanthemums be planted?

18- & b 9T A Il DT 3MEgT fhar Sfar g 2

From which part of lemongrass is the oil distilled?

19-37T9 BT TaR g4 B Al B gl o7 |

Write a list of ingredients for making Mango pickle.

20-UfR1eT Bq 3gedl dedl & 4 ford |

Write the names of factors conductive to training.

I SR Y99/ Long Answer Type Questions

U9 WRT 21 W 26 db b od ST 2 | 599 I fodt 9 v &1 SR S | U
U & foru 5 3fh HgiRa 2 | 3x5=15

Question Nos 21 to 26 are Long Answer Type. Answer any three question. Each question carries 5

marks. 3x5=15

21-99®T B Wl &7 FrfeRad el § qoia o -
a) Sd fbeH
b) ol &
¢) WIE TG SdRd e
d) =g
e) WRYAAR =0T

Page 25 of 27



Describe the cultivation of Maze under following heads :
a) Improved varieties
b) Seed rate
¢) Manure and fertilizer management
d) Irrigation

e) Weed control

22-3IE @t Wt @1 fEfoRaa eivet # aui o |
a) fAg!
b) ST TS
¢) 4TS BT T
d) 997 <

¢) WIE UG AR Yo

Describe the cultivation of Sunflower under following heads:
a) Soil
b) Improved varieties
¢) Sowing time
d) Seed rate

e) Manure and Fertilizer Management

23-gde! Riare & fafer=r fafey &1 9ol & |

Describe the different methods of surface irrigation.

24-3 B WA BT FEfoRaa el § aoiF o ¢
a) M= A
b) fet
o) fore
d) Riarg

e) SUul
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Describe the cultivation of Sunflower under following heads:

a) Scientific name
b) Soil

c) Varieties

d) Irrigation

e) Yield

25-STl ¥ROT UG & S| BT Ui P |

Describe the objectives of watershed management.

26-TAfSATT I ASNfTh WdT BT IO BN |

Describe the scientific cultivation of Gladiolus.
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